RFI 582
all exposed duct support and pipe

' support shall be galvanized steel
@ 2007 FKP Architects, Inc. All rights reserved. No part of this document may be reproduced or utilized in any form without prior written authorization of FKP Architects, Inc.

MAX. WT. = 250#

~#\23CAD\2305\2305-163-07\INC— 7_M—P\M10_06.DWG

1/7/2010

RSADDI

60" MAX. : ; (TOTAL) ,
/- m.xzzs# (EA. PIPE) — - 2-8" PIPES |~ 48" MAX. —
8”9 PIPES "% U— ' | 24" MAX. 3" SCH 40 MAXIMUM — L o
| MAX. ?T/\?pg v-BoLT 3/16 ~ ‘ STEEL PIPE —__| O E O 1/2°0U-BOLT (TYP.)  NOTE: FOR LONGITUDINAL
(TYP. 12) HSS 6X4X1/4" ‘L N 1/2" A36 | e SEE » |
_ T - L , o o FLATE N | B X | :
: — A NA_ /47 CAP PL. | gt e = HSS 5'X4"X1/4" FKP Architects
: v L N == 1 2 v l | 3/8"0 U-BOLT 2-3"9 PIPES MAX. | 3/4"9 HOLE | i , |
l db \ . MR (TYP.) ~| . E 1/4" CAP PL. TYP.
/ L2-1/2"X2-1/2 x1}/4 — , E \@ . — /
/sl ‘ | | | ® | T
N e — . 24NN i T -
TS5X5X1 /4 1-1/2" (TYP.) . - :
|| [ 1] | | L L3X3X1/4"X0'—3" L—L3X3X1/4" TYP. I 4" SCH 40 PIPE ARCHITECT OF RECORD
, | TYP. | » ,
/8 | | | @ @ | TP ; ¥ -—— 12" SQUARE K ‘ "Achitect of F;ec;_ard s?gn‘ature Iing qnly; this drawing was not
v ¥ v v ; T\ T /@ ’ : TYP, TYP —\ T /@ ' prepared under the direct supervision of the Architect of
\ & \_ S 316" l/ A i 3/16 : o - P V Record. The direct responsibility for preparation of this sheet
TYP. \ s i " I ] BASE PLATE RFI 1903 3/16 lies with its corresponding professional stamp and signature.
/ 3/16 [/ - HSS 57X4"X1/4" — « - ’ Please also : The signature of the Architect of Record in general
‘ | T kﬁ see RFI 1963 | g respansible ghayge of the project is provided as required by
' | _ " | for alternate » Title 24, rt Section 7-1 1% {a)".
% ] N @ @ &— — —aq S/8" A3 PLATE | L6x6x5/16” % detail | MAX. WEIGHT = 1,200 & __ETT1/2" A36 PLATE |
s % 1L 2" TYP. S—3/4" ¢ HOLE | = % (TOTAL) S\~ 3/4" ¢ HOLE ARCHITECT - PAUL C. GLORIOD
:? /7 @\ @ o g'ﬁoelp(;:" %Cg 41;10AX E ’2 4" SCH 40 PIPE | (P)
- _ ” - ” ”» . " - o\ B [(e] ' h .
| L2-1/2"X2-1/2"X1 /4 -———/I/l | — i —| —1-1/2" (TYP.) i 1 AT 10-0" MAX. ~—u] = 1-1/2" (7YP)
TS5X5X1/4” - T | 16" SQUARE RFI #4634 TP 12" SQUARE CONSULTANT
1/8" m /Q 3/16 Substitute 3/16 l/ P
g - BASE PLATE l/ longitudinal bracing BASE PLATE EEE T MAD = STRUCTURAL
| @ l/ j\ RFI #4634 ROOF DECK for chilled water y = MECHANICAL
| /1| »on ' ' = ELECTRICAL
LS L e \ A Substltu_te pipe supports. B & GAINES b
\ i / longitudinal ” ”
” N . H ) ) 1 1 , .
\——L4X4X1 /4" TYP. Y+ 1 / | bracmg for | A | l/_\ i /—_\—- ‘ | l ROOF DECK ROOF DECK [ | 00 Sc?uth An.alhel.m Boulevard, Suite 150
(TOTAL 4) TYP. , Ch”'ed water T S— ! Anaheim, California 92805
| V36" \ pipe AN - | i i i i Phone: 714.490.5555 Fax: 714.490.5560
| || ; ROOF DECK o LA 4 supports. E_3x3x3/8 . 18; LONG MIN. « \__(5 N/g»TéggSg ?E ;’%—_{RéjE QBL?H%IZD TYP.) : M /—-\ /—\ M fi Project No. 2305-163-07
| TWO REQUIRED I | | 1
" " / ~— 5/8" A—307 @ THRU BOLT (TYP.) '
L3X3X3/8 , 18" LONG MIN. L3X3X3/8 , 18" LONG MIN.
(OLW?SBE&}U;REIS') PLATE 5/8" A—307 8 THRU BOLT (TYP.) (TWO REQUIRED) (NO TORQUE TEST REQUIRED)
SPANS 2 ,_-LﬁES MIN. (NO TORQUE TEST REQUIRED) OR 14" W 3/4" PLATE
| A 7\ SPANS 2 FLUES MIN.

SCALE
PIPE SUPPORT DETAIL PS-4 AT AHU COILS' CONNECTION {7 PIPE SUPPORT DETAIL PS-56 AT 10 OC. B 4) | PIPE SUPPORT DETAIL PS-1 AT 10° OC.
Assoggtleifgsiztlch for ¥ SQUXRE - 48" MAX. ' - RFI #4634 '
| | ’ proposed and approved RPBP support 1-1/2" |TYP. ) . Substitute longitudinal REVISIONS
anchorage decal 1/2" A36 RFI 2053 2-10"¢ PIPES 1/2"8U~BOLT (TYP.) br;‘;rng.fp‘gghgffns NOTE: FOR LONGITUDINAL
‘ | water pipe su : BRACE SEE /7~
| \ o £ o /@/16 V ) m
| 1 ,_j/ g OO \ ' ‘ HSS 7'X4"X1/4"
| 1 , : , -
( | | ’ . o o C:;N >’|8\ 2 ' /— 1/4" CAP PL. TYP. |
| - = . 3/4"8 HOLE P = — 5 — /
| Ve PS—6 PS—6 ~_ S MAX. T\{P.(4 TOTAL) / § ¥ /\/\J}j o |
. | ' l o 1 | 1” MIN.
g — G/ l ., | " P
( — — — — w‘ﬂ@”w :" \/\’?\ BASE PLATE 3/16" I/ L3X3X1 /4"__ %3;3)(1 /4 Ks SCH 40 PIPE
| O |
: = TS4X4X1 /4" &\ — N
! | L e A ax. ‘ 1/8" ' | //%15” V -
% (TYP.) : . ‘ ~ | APPROVAL
% » » / - B ‘ %. R
HORIZONTAL " l(";';;? /4 [ — £%3 REVIEWED IN ACCORDANCE WITH

[——1/2" A36 PLATE EEFSIE) THE REQUIREMENTS OF 124, CCR

— % MAX. WEIGHT = 1,600# & - —& ' ,
~ < A - -‘ APPROVED
( o — [MIENNT “ertps— > ;é% 1% 1 151 /) |1 RFI #4634.1 = 6" SCH 40 PIPE (TOTAL) U HOE
{ml! g4 | i{m)! N4 - Outdoor pipe to be ° @ 10'-0" o.C. | ' {0 Q
: : + =+ (g wrapped in ,,‘, MAX. — —1-1/2" (TYP) JAN 2.8 2010
o | ! | \6 Cyp aluminum jacket. - AN | | .
_ . : ; 16" SQUARE Offiee of Siatewide Healih
N ° 74" snel” N Painted with TYP. q Planning & Development
N ® weatherproof silver ! 3/16" [/ N FACILITIES DEVELOPMENT DIVISION
paint. | BASE PLATE

PROJECT NAME

ég-

54" .
ﬁ. I - —~ /——3/8”¢ U—BOLT TO PIPE

! II - | 1l z 7 ™ (Typ.) .
e P / CHILDREN'S HOSPITAL
— \ | : | | L/ ROoF DECK L OF ORANGE COUNTY
VALVE STEM —L— VALVE STEM - 22" BASE PLATE (TYP.) i i I i ,
- ul AT 45° '}:‘g&%‘h,ﬂfA'NER QSR‘% J—FA?_M | us ’ g | | | | i i o i i 455 S. Main St.
| HORIZONTAL | | - - = AN /_\ 1/ I\ W C\L/ N\ Orange, CA 92868-3874
‘ 6" CONC. PAD —5/8"¢ HILTI KB=TZ W/ L4 w N g
| see (B5) 4" EMBED. ICC ESR 1917 ) C
&1/ TYP. ~ L3X3/8 , 18" LONG MIN. 5/8" A-307  THRU BOLT (TYP) TOWER I
PIPE_SUPPORT DETAIL FOR PRV—2.3 AND 4 - (TWO REQUIRED) (NO TORQUE TEST REQUIRED)
/ OR 14"\ 3/4" PLATE
, | M x SPANS 2 RLUES MIN. |
SCALE
MEDIUM TO LOW PRESSURE PRV STATION #2, 3 AND 4 PIPING DETAIL SUPPORT TYPE PS-6 (FOR BASEMENT) e Ob N PIPE_SUPPORT DETAIL PS-2 AT 10' OC. O R gh - |
RFI #4634 | 15" SQUAI%E_\‘)\‘)\’)\"/ \ ' SM
Substitute - ;
IongitL_JdinaI bracin_g ] 1-1/2" |TYP. gtljtl)‘;s#téitﬁ?;bngitudinal 4" SCH 40 ;
[ 1 | L?erc;r:)llrlg d water pipe —~—— 3’ MAX. ——— ;{iTEASB bracing for chilled water STEEL PIPE -\ O O : |
) _ . ‘ \ T /Q;/w 7 pipe supports. l—,é’ U-BOLT PER TOLCO : H OSPITAL
S e 1/2" A36 \ | |
e /—PS—-7 PS—7\ 7 . | e | o S S 4 PLATE \\ y s |
E T L\ " . PROJECT NUMBER
)+ £ : | - e
= I = =+ " TYP. ;
| 3/4"9 HOLE \
e GRS e S — — i{g@’}}’ R LT ¥ S — TYP.(4 TOTAL) — % O O 1 201 1 '00
\_"
=4 ,, Increment #7
WT. = 1.900 TOLCO PIPE SADDLE 1-1/R"(TYP.)
; o — Laxaxl /4 BASE PLATE . A # WITH U BOLT (FIG 318) —] OSHPD - PROJECT NUMBER
/) ) (TYP.) 16" SQUARE
_ | INSTALL STRAINER . | ' N /‘/ \ IL 072072-30
| rﬁ . /' HORIZONTAL | i I —F L] | RlFI 2920 | BASE PLATE SSUE
W - I ] - ’ please see revise ’ :
< S MPS| — - — - T_L%Tl S SN ¥ =T Ne— ‘ ﬂ( j ~1l/ u_ @ N R 35 Y| =E S T— \% /TYP‘ deta?ls due to these RE| 446341
LD 2 ; 516/ AN details not adequately Outdoor pipe OSHPD PERMIT
= | . addressing_ the pha_sing insulation to be %
0" PN | conditions in the boiler wrapped with < DATE
room for PRV-1 and : : ‘ 4”9 SCH 40 PIPE
INSTALL STRAINER L PRV-2 aluminum jacket. ® 10—0" 0.C. © 01/27/2010
% ﬁ, HORIZONTAL I e | MAX. conLe ,
i [ 6"MPS| | P ﬂ;T o BIMPS ;7::"('[‘/ ﬂ— . ﬂ;ﬂ — 5MPS— ' A74-" ' TS4X4X1/4" | , ’ ' | RF| 4105
\ L AL i dub ’/_ ?F\IF? )— 0" MAX. ’ /Q> 318" ‘ Confirmation of seal
g 54" ’ ROOF DECK ' welding the 5/8" hex nuts DRAWING TITLE
% . - | 3/8"¢ U-BOLT TO PIPE | o | r?l? ﬁj
o | © // (TYP.) Nl ZaNav , MECHANICAL DETAILS -
o | ] i =i | | L N PIPE SUPPORT DETAILS
" " 1l 90" BASE PLATE (TYP ' |
8 MP3) 6"MPS T V | — "HPS | 22" / (TP L3X3X3/8 , 18 W 5/8" A—307 ¢ THRU BOLT (TYP) RFI #3944
| “_J : ' ‘J 1 Y | Y ‘ S l ! L 1 ! | L (TWO REQUIRED) ' (NO TORQUE TEST REQUIRED Temperature controls conduit
%% ‘\' ' ' » \ acceptable to attach to pipe and duct
XQL\:‘%OSJEM AT ; VALVE STEM ‘ » 6" CONC. PAD —5/8"¢ HILTI KB—TZ W/ RF1#5295 supports on roof.
- INSTALL STRAINER AT 45" FROM B /B5 | | | 4" EMBED. ICC ESR 1917 \
~— HORIZONTAL HORIZONTAL HORIZONTAL T SEE <, PE RT DETA| Vo1 DRAWING NUMBER

e g\(\(’%\»

| )

HIGH TO MEDIMUM PRESSURE PRV STATION #1 PIPING DETAIL PIPE SUPPORT TYPE PS-7 (FOR BASEMENT)
6 | | 5 | 4 |

M10.06

C PIPE SUPPORT DETAIL PS-3 AT 10 OC. SCAE

¢



DConner
Cloud

DConner
Callout
RFI 2053

DConner
Cloud

DConner
Cloud

DConner
Callout
RFI 2920
please see revised details due to these details not adequately addressing the phasing conditions in the boiler room for PRV-1 and PRV-2

DConner
Arrow

DConner
Text Box
RFI 2887.1
Associates sketch for 
proposed and approved RPBP support anchorage decal

DConner
Cloud

DConner
Callout
RFI 2053

DConner
Text Box
RFI 1903
Please also see RFI 1963 for alternate detail

DConner
Text Box
RFI 582
 all exposed duct support and pipe support shall be galvanized steel

IAlofaituli
Cloud

IAlofaituli
Callout
RFI 4105
Confirmation of seal welding the 5/8" hex nuts 

IAlofaituli
Text Box
RFI #3944
Temperature controls conduit acceptable to attach to pipe and duct supports on roof.

IAlofaituli
Text Box
RFI #4634
Substitute longitudinal bracing for chilled water pipe supports.

IAlofaituli
Text Box
RFI #4634
Substitute longitudinal bracing for chilled water pipe supports.

IAlofaituli
Text Box
RFI #4634
Substitute longitudinal bracing for chilled water pipe supports.

IAlofaituli
Arrow

IAlofaituli
Arrow

IAlofaituli
Text Box
RFI #4634
Substitute longitudinal bracing for chilled water pipe supports.

IAlofaituli
Text Box
RFI #4634
Substitute longitudinal bracing for chilled water pipe supports.

IAlofaituli
Arrow

IAlofaituli
Arrow

ialofaituli
Cloud

ialofaituli
Callout
RFI #4634.1
Outdoor pipe insulation to be wrapped with aluminum jacket.

IAlofaituli
Text Box
RFI #4634.1
Outdoor pipe to be wrapped in aluminum jacket.  Painted with weatherproof silver paint.

IAlofaituli
Arrow

IAlofaituli
Arrow

IAlofaituli
Arrow

IAlofaituli
Arrow

ialofaituli
Cloud

ialofaituli
Callout
RFI #5295


